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A=l 7 1EIRE R CIENE 7 THEE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 5S +2 -510 [ri] 6S +1 |[-1010 11
2 it x 4S -1 50 [ri] 4S = -420 10
3 ,?ﬁ [£3] 4S +2 480 [£3] 4S = 420 2
4 WE=] x 3S -1 100 ® 4S +1 -650 13
5 it [ri] 3NT = -400 75 6H -3 150 11
6 panyiic] [£3] O6NT = 990 1t 6H -1 -50 14
7 WE=] [£3] 3NT = 600 [ri] 2S -1 100 11
8 TS x 4S +2 -480 [ri] 4S = -420 2
DATUMiT T
4SPA y) 45N Y. X+ 61 | 13
BHER/TEE 12 s/ AR E -34 ait 61 13
==Y 34 ZFR/ETRR 12 V.P. 20
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%2 2R 2019411 710H
2 $EFRA VS 1 4-5PA
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RERTIN ==y ==y RERTIN
Tt T=% T I EER % - B
i EHEE 7 TEE = 78 : XUpZ
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4H +2 -480 x 4H +2 -480
2 it [£3] 4HX = 790 [£3] 4H = 620 5
3 panyiic] 1t 5Cx -3 -500 1t 5Cx -3 -500
4 E=] [ri] INT +4 -210 ® 4C = -130 2
5 it [ri] 6CXx -2 300 78 6CXx -2 300
6 panyiic] [£3] 2S -3 -150 1t INT -1 -50 3
7 PWE=] [ri] 5D +1 -620 x 4S +2 -680 2
8 TS [£3] TNTX -1 -100 1t o6H = 980 14
DATUMSit s
FEFARA = S=HUN Y. X+ 7 19
FEWR/TERE -22 HHER/TR® 2 ait 7 19
B S/ XS -2 EE/TEE 22 V.P. 5.61 | 14.39
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3 FFIERA VS 2 #£F0BA
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ARG RERIA RERIA ARG
It 2o ppp—” T Pp—
e 7 - I & T T
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3H = -140 [£3] 2S = 110 6
2 it [£3] 2Sx -1 -200 x INT +1 -120 2
3 panyiie] 1t 4Sx -1 -100 [ri] 4H +1 -650 11
4 E=] 1t 3NT -2 -200 5| 3NT -2 -200
5 it [£3] 5H = 650 1t 4H = 620 1
6 panyiie] x 4C -2 200 [£3] 3S -2 -100 7
7 E=] [ri] 4Hx +1 -990 [£7] 5C = 600 17
8 TS x 2D +3 -150 [ri] 3NT +2 -460 7
DATUMiT T
FFIERA FEFOBA Y. X+ 26 | 25
RiFC/ SR -9 FER/EME -3 ait 26 25
I/ L= 3 R R/ XU 9 V.P. 10.44 | 9.56
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By . IR 7 D& Fa . B 7h LIRS
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT -1 -50 1t 3NT = 400 10
2 |®Eibl = 3NT | +1 630 [£7] 3NT | +1 630
3 panyiie] x 4H -1 100 x 3H = -140 6
4 WE=] 1t 2H -1 -100 ® 1D = -70 1
5 it 1t INT +2 150 1t 2NT -1 -100 6
6 panyiie] 1t 4H -1 -50 1t 4H -1 -50
7 WE=] 1t 4H = 620 x 3S -2 200 9
8 TS 1t 5H -1 -50 [ri] 5Dx -5 1100 15
DATUM&it ek
K1BPA FRISPA &% | 2 | 2
Friit/ 2R 29 A=Y e 37 it 21 | 26
BRIX=/$heTE  -37 I/ L -29 V.P. 7.95 | 12.05
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%2 % %5 5 2019411 H10H
5 1BPA VS 4 "KIEPA
H= A=
AN KB KB e 5IBA
it : = R BURS 1t : FEIE R Z=HA
B3 - {axhE 7Y : fheTRK B IR 78 : EINE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT = 400 1t INT +2 150 6
2 it x 3NT = -400 x 3NT = -400
3 panyiie] x 3NT +2 -660 1t 5Dx -4 -800 4
4 E=] [£3] INTX -2 -500 [rif] 3H -1 100 12
5 [&del 46 | aNT | +2 | 120 § & | AINT | = 90 1
6 panyiic] [£3] 2S +1 140 x 3H = -140 7
7 WE=] [ri] 2HXx -1 200 [£7] INT = 90 3
8 TS 1t 3S +1 170 [£3] 3D +1 130 1
DATUM% it iFEE
y) =] N KiBRA r. 5+ 22 | 12
s/ AR E -8 FrbRHh/ 2= 1R -12 Aait 22 12
Z P BT 12 RS = /52T 7% 8 V.P. 13.78 | 6.22




